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71)- Before you ............ to the next question, you should take some time to make
sure you are happy with your answers so far.

1) prescribe 2) precede 3) proceed 4) preface
72)- 1 never thought you would get so upset about such a ...... matter.
1) contradictory 2) consistent 3) colloquial 4) trivial

73)- Because the hikers planned to reunite at 4:00 P.M., they paused to ...... their

watches.
1) llluminate 2) reinforce 3) synchronize 4) chronicle
74)- To reduce ............ , company will no longer mail monthly paper statements to

those with access to online statements.

1) Fright 2) hesitation 3) conflict 4) waste

75)- When it was discovered that he had been operating as a spy, he was badly
.......... in the press as being a traitor.

1) Incorporated 2) censured 3) concerned 4) constrained
76)- The teacher ............. the students into different groups for the exam.

1) decreased 2) removed 3) separated 4) relied
77)- We can observe serious.............. problems on the police force.

1) device 2) dicipline 3) possibility 4) guarantee
78)- He was not ............. dressed for the party.

1) mentally 2) suitably 3) usefuly 4) continiously
79)- A: “Do you think we ought to.......... the police”?

B:” No, | do not think so”.

1) inform 2) survive 3) perform 4) attract
80)- These people are .......... boring that we hate to visit them.
1) so 2) too 3)such a 4) enough
(V)
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81)- As the man is lazy and has no ............ of responsibility, he does not work to
make money for his family.
1) basis 2) habits 3) sense 4) amount

82)- what is the synonym of punishment?

1) movement 2) retribution 3) preservation 4) injunction
83)- islam interprets .........cccceuuenns as the transfer of man from one stage of life to
another.
1) death 2) compulsion 3) tribulation 4) vicegerent
84)- Those who wander from the right path have an awful....c..oceevevneenne...
1) freedom 2) comprehension 3) monarchy 4) doom

85)- what is the Persian equivalent of revivify?

oS Sl (¥ oS wyaie (7 o St (Y o3 bl ()
86)- Ali was born before the commencement of the prophetic mission of the
Prophet; ""commencement’ means..........

i (¢ I (r ci (¥ obL ()

Sewsl "Byl 41 mlBg ;Y ae 4y 43S pliS —(AV

1) Voyage d, 2) summary 3) choler 4) chronicle
Sb’.ﬁu.o )f:) «The Almohad» JS.:: 4 L;OMAAJ‘ CJ,D fl..\f fU MI wa‘aﬁ' o9 )y —(M
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1) traditional 2) commentator 3) consider 4) calendar
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Reading Comprehension
Read the following passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

Passage 1:
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Given the criticality of successful bilateral (guest—employee) interactions in
the increasingly internationalised hospitality business environment, the
overarching aim of this study is to determine whether religion (Buddhism,
Islam, Hinduism, and Christianity) plays a role in how hotel employees’ non-
verbal communication is perceived by guests. In addition, we are interested in
understanding perceptions of hotel employees’ non-verbal behaviour from the
perspective of the intersection of religion and gender. This exploratory research
1s based on cross-sectional data collected from 384 hotel guests in Dhaka,
Bangladesh. Results showed that Christian guests perceived proxemics,
physical appearance and paralanguage of hotel employees less favourably than
Muslim guests did. Effects of religion on kinesics and proxemics also depended
on gender. Implications are discussed theoretically in terms of cross-religious
discourse and practically in terms of workforce training.

71)- Which of the following statements is true according to the passage?

1) Religion plays a role in how hotel employees’ verbal communication is
perceived by guests.

2) The research is based on sectional data collected from more than 300 hotel
guests.

3) Effects of religion on kinesics depended on gender.

4) Christian guests perceived paralanguage of hotel employees more
favourably than Muslim guests did.

72)- What can be used for “conveying information without using words?”

1) behaviour 2) non-verbal communication
3) verbal communication 4) hospitality

73)- What is the noun form of “perceive?”

1) perceived  2) percent 3) perceivable 4) perception

74)- What are the two opposite words in the passage?

1) theoretically # practically 2) religion # gender
3) proxemics # physical appearance  4) interactions # behaviour

75)- What may be the title of this passage?

1) successful (guest—employee) interactions in the increasingly business
environment

2) Non-verbal communication in hospitality: At the intersection of religion
and gender

3) Religion and identity in hospitality business environment

4) Culture and communication in Thai nursing: a report of an ethnographic
study

(Y)
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Passage 2:

Theoretical contributions conceptualizing dialogical processes and structures
of mass communication are scattered, hence different disciplines work on the
same 1issues without wuniting their potentials. The mediated social
communication (MSC) approach developed by German communication scholars
and the dialogical network (DN) approach informed by ethnomethodology and
conversation analysis share important characteristics. This paper contributes to
interdisciplinary research by comparing the approaches, analyzing their
similarities and differences, and discussing their integration. The MSC
approach offers additional theoretical considerations; the DN approach provides
pointers to the empirical analysis of dialogical structures in mass
communication. KEssentially, both approaches conceptualize journalists as
mediators of the exchange between diverse (individual or collective) actors
speaking for social groups. This journalistic mediation of various statements
enables a shared society-wide discourse essential for the existence of any
society. However, the actual performance of this mediation varies between
countries and depends on editorial practices, norms, and resources, which differ
across media types and outlets. Future research could use the theoretical
conceptualizations of these approaches to investigate communicative actor
relations more thoroughly and focus on how they develop in the context of
journalistic mediation .

76)- What kind of research is this one?

1) interdisciplinary 2) multidisciplinary
3) transdisciplinary 4)3&1
77)- According to the passage, who developed the mediated social
communication?
1) ethnomethodologists 2) conversation analysts
3) communication scholars 4) producers

78)- What is the similarity of two mentioned approaches?
1) using the empirical analysis of dialogical structures

2) offering additional theoretical considerations

3) analysis of dialogical structures in mass communication
4) conceptualizing journalists as mediators

79)- The word “investigate” in the passage is closest in the meaning to....
1) to put money, effort, time, etc. into something to make a profit or get an
advantage

2) to examine something carefully, esp. to discover the truth about it
3) to turn something upside down or change the order of two things.

4) to design and/or create something that has never been made before
(V)




120 Syl g ol — 48l wlis )5 ## VE-Y Jlo (63959 (1905]

80)- It can be understood from the passage that. ....

1) There is only one discipline which focuses on conceptualizing dialogical
processes and structures of mass communication.

2) There are different disciplines which work on the different issues with
uniting their potentials.

3) There are different disciplines which work on the same issues without
uniting their potentials.

4)3&1

Passage 3:

With the widespread popularization of social network platforms, user-
generated content and other social network data are growing rapidly. It is
difficult for social users to select interested contents from the numerous social
data. To alleviate information overload problem and enhance overall user
experience of social networks, recommendation systems relying on historical
behavioural data and social friendship relations of users, are widely used in
social networks. Although researches on social recommendations have been
conducted in recent years, recommendation systems of social networks still
suffer from several challenges, such as data sparsity and lower performance.
Since graph neural network has huge advantages in graph data learning by
aggregating neighbors representations of the central node, it has been
gathering pace in recent years .

In this survey, we review graph neural network based literature for solving
recommendation problems in social networks. We first introduce backgrounds
of graph neural network and recommendation systems in social networks.
Then, for different types of recommendation problems in social networks, we
review different graph neural network based recommendation methods briefly.
In particular, we first review GNN-based methods for general social
recommendation and then review GNN-based methods for different social
recommendation scenarios (such as friend recommendation and point-of-
interest recommendation). Finally, we briefly discuss promising future
directions of the graph neural network based recommendation in social
networks .

81)- The word “alleviate” in the third line is closest in the meaning to. ...
1) to fix a problem 2) to make pain or problems less severe.

3) to say sth irrelevant 4) to review

(')
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82)- In which part of the study, the author tells us about future directions of
the graph neural network?

1) first part. 2) second part.  3) last part 4) first

and second.

83)- Does “it” in the last line of first paragraph refer to?

The general theory of linguistic structure is concerned with discovering the
conditions that any such grammar must meet

1) social networks 2) challenges

3) neighbors 4) graph neural network

84)- Which word of last sentence does mean “using few words?”

1) finally 2) briefly 3) social 4) promising
85)- It can be understood that the passage is. ...

1) reviewing graph neural network.

2) reviewing GNN-based methods for general social recommendation
3) reviewing the effects of graph neural network

4)1&3

86)" .eeveune was the founder of "sociology” in modern era.
1) Karl Marx 2) Alexis de Tocqueville
3) Auguste Comte 4) Max Weber

87)- Which thinker was concerned with Protestantism and its impact on the
rise of spirit of capitalism?

1) Karl Marx 2) Michel Foucault
3) George Simmel 4) Max Weber
88)- Which of the following ideas belongs to Karl Marx?
1) Communicative action. 2) Historical materialism
3) Ideal type. 4) law of the three stages.

89)- Weber’s ideas on "verstehen" is that?...
1) the French word for understand the social phenomena.
2) It is a sort of Hegel's dialectics and its reverse in Marx.
3) the cretia of difference of natural phenomena and social phenomena.

4) derived from a field known as critical theory.

90)- The Structural functionalism in sociology belongs to? ...............
1) Max Weber. 2) Karl Marx.

3) Michel Foucault. 4) Talcott Parsons.

(')
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A- VOCABULARY

66)- A ----------- is an accessory contract by which the promisor undertakes to accept
liability on behalf of the promissee for the debt.

1) A contract of guarantee 2) A bilateral contract

3) A contractual sale 4) A contract of mandate
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67)- Laws, for example, can be classified as (1) substantive law and (a) ------------ ,ad (2)
domestic law and (b) --------------- law.
1) (a) criminal, (b) public 2) (a) public, (b) criminal

4) (a) procedural, (b) international
68)- The word ‘lawyer’ is NOT a synonym of ----------- )

3) (a) international, (b) procedural

1) attorney 2) magistrate 3) barrister 4) advocate
69)- ---------- law is a written law passed by a body of legislature.

1) statutory 2) common 3) oral 4) customary
70)- Which is NOT an element of a crime?

1) charge 2) criminal act (actus reus)

3) criminal intent (mens rea) 4) concurrence
71)- (@) ----------- apply generally, whereas (b) ------------- are international agreements

on the conduct of hostilities and aim to protect the rights of civilians.
1) (a) humanitarian laws, (b) human rights
2) (a) human rights, (b) natural rights
3) (a) human rights, (b) humanitarian laws
4) (a) humanitarian laws, (b) international laws

72)- Based on article 40 of the Civil Code of I.R.I. the right of ----------- comprises the
right by which a person may derive profit from property which either belongs in
proprietary right to someone else or has no special owner.

1) leasehold 2) access 3) exploitation 4) preemption
73)- Which word is NOT a punishment?
1) fine 2) imprisonment  3) expatriation 4) acquittal
74)- The English courts have no -------------- over offences which are committed out of
England, except for some special cases.
1) diminished responsibility 2) jurisdiction
3) acquisition 4) jurisprudence
75)- ----mmmmeee- is an official decision made in a court of law, especially announcing
whether someone is guilty or is going to be punished.
1) verdict 2) act 3) summon 4) warrant

B- Reading Comprehension

Text One
Read the passage and answer questions 76 to 80.

In criminal cases the burden is throughout on the prosecution to establish the case against
the accused beyond reasonable doubt. If the jury or magistrates have such doubt then they
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should acquit. At the close of the prosecution case, counsel for the defence may submit that
there is no case to answer; if the judge agrees the jury will be directed to acquit.

Normally, if the accused puts forward a defence it does not have to be proved but
sufficient evidence must be adduced to go to the jury (the evidential burden) and if “it”
creates a reasonable doubt in the minds of the jury they should acquit. In some cases,
however, a defence on balance of probabilities must be proved, i.e. the civil burden of proof,
e.g. insanity, diminished responsibility and under the Prevention of Corruption Act, 1916 (s.
2), where a gift shall be deemed to have been given or received corruptly unless D proves
the contrary.

In the Crown Court the judge directs the jury on the relevant law and the jury applies the
law to the facts of the case in returning a verdict of guilty or not guilty; the conviction will
be declared in case of guilt.

76)- What is the main idea of the passage?
1) The differences between the judge and jury 2) Burden of proof
3) Acquittal conditions 4) Prevention of crimes

77)- Based on the first paragraph, the defendant will be acquitted if ...
1) there is a reasonable doubt against him.
2) the jury determines even if the judge disagrees.
3) the judge determines even if the jury disagrees.
4) the judge and jury agree.
78)- What does the word “it” in line 6 refer to?

1) evidence 2) jury 3) accused 4) reasonable doubt
79)- According to the text, defence on balance of probabilities must be proved in cases
such as ...
1) when the sufficient evidence is adduced. 2) the civil burden of proof.
3) diminished responsibility. 4) None of the above.
80)- The word “conviction” in the last sentence is the closest in meaning to ------ :
1) discharge 2) sentence 3) disbelief 4) certitude
Text Two

Read the passage and answer questions 81 to 85.

Whilst offer, acceptance and consideration are described as the basic requirements for a
contract, terms might best be described as the ‘ingredients’ of the contract: they tell us what
each party to the contract is expected to do under the contractual agreement. Terms thus
identify the respective obligations of each party under the contract: “they” amount to
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contractual promises. Contractual terms are, therefore, to be distinguished from mere puffs
or representations which are non- promissory in nature and do not amount to terms: a puff is
an advertising statement which praises the advertised goods in such vague or boastful terms
that the statement made cannot be taken seriously. A representation is a statement which
induces one party to enter the contract but which does not form part of the contract, i.e.
which does not amount to a contractual term. This distinction is important as only the
breach of a contractual obligation or term will give rise to liability for damages for breach of
contract — if a puff is broken or false, no liability is incurred for this; if a representation is
broken/false, the remedies, if any, are those for misrepresentation.

81)- What does the passage mainly discuss about?

1) Requirements of contracts 2) Terms of contract

3) Representation 4) Misrepresentation
82)- What does the word “they” in line 4 refer to?

1) contracts 2) terms 3) obligations 4) promises
83)- The contractual terms must be ...

1) differentiated from mere puffs. 2) non-promissory in nature.

3) not the amount of terms. 4) identified by either of the parties.

84)- In which of the following choices, the liability for damages for breaching a contract
will be assumed.
1) When a puff is false 2) When a representation is false
3) The breach of a contractual obligation or term  4) All choices.
85)- The word “mi''srepresentation” in the last sentence is the closest in meaning to ---.
1) Falsity 2) conferral 3) negligence 4) witness

Text Three
Read the passage and answer questions 86 to 90.

The main concerns for international law are war and peace, whereas the primary aim of
national law is to avoid the conflicts between humans and establish civil peace. The great
thinkers who contributed to the establishment and development of modern international law
intended precisely such a mission (the avoidance of war and institution of peace) for
international law. Moreover, across the centuries, when the world appeared to be principally
Eurocentric, the law of nations emerged mostly in the form of peace treaties. Meanwhile,
Europe is the birthplace of the ‘law of nations’. Accordingly, the legacy of that period and
its European roots are easily recognizable in contemporary international law. In order to
meet these purposes, some sources were needed; there is no hierarchy between the sources
of international law. In general, there are three sources of international law: international
treaties, international custom and general principles of law. In international law, a special
place is occupied by the unilateral acts of states, the subsidiary sources of international law
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— the judicial decisions and the teachings of the most highly qualified publicists — and the
soft law.

86)- What is the main idea of the passage?

1) International law sources 2) The definition of International law

3) The primary aim of international law 4) Development of International law
87)- The avoidance of war and institution of peace were the main aims of forming ...

1) International law 2) Law of nations

3) European roots of law 4) International customs

88)- Based on passage, ...

1) Inheritance of international law roots in Europe is not easily recognizable in
contemporary international law.

2) Legitimacy of international law roots in Europe is simply recognizable in
contemporary international law

3) Legacy of international law roots in Europe are easily identifiable in today’s
international law.

4) 2 and 3.

89)- Which is TRUE based on the passage?
1) The sources of international law are not limited.
2) Some sources of international law are prior to the others.
3) The unilateral acts of states are among the general sources of international law.
4) International treaties and international custom as well as general principles of law are
the sources of international law.

90)- The word “subsidiary” in the last sentence is the closest in meaning to ...... :
1) Secondary 2) Subsidized 3) Preceding 4) Primary
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A-VOCABULARY

66)- A ----------- Is an accessory contract by which the promisor undertakes to accept
liability on behalf of the promissee for the debt.
1) A contract of guarantee 2) A bilateral contract
3) A contractual sale 4) A contract of mandate
67)- Laws, for example, can be classified as (1) substantive law and (a) ------------ , ad
(2) domestic law and (b) --------------- law.
1) (a) criminal, (b) public 2) (a) public, (b) criminal

3) (a) international, (b) procedural 4) (a) procedural, (b) international
68)- The word ‘lawyer’ is NOT a synonym of ----------- :

1) attorney 2) magistrate 3) barrister 4) advocate
69)- ---------- law is a written law passed by a body of legislature.
1) statutory 2) common 3) oral 4) customary
70)- Which is NOT an element of a crime?
1) charge 2) criminal act (actus reus)
3) criminal intent (mens rea) 4) concurrence
71)- (@) ----------- apply generally, whereas (b) ------------- are international
agreements on the conduct of hostilities and aim to protect the rights of
civilians.

1) (a) humanitarian laws, (b) human rights

2) (a) human rights, (b) natural rights

3) (a) human rights, (b) humanitarian laws

4) (a) humanitarian laws, (b) international laws
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72)- Based on article 40 of the Civil Code of I.R.I. the right of ----------- comprises the
right by which a person may derive profit from property which either belongs in
proprietary right to someone else or has no special owner.

1) leasehold 2) access 3) exploitation 4) preemption
73)- Which word is NOT a punishment?
1) fine 2) imprisonment  3) expatriation 4) acquittal
74)- The English courts have no -------------- over offences which are committed out
of England, except for some special cases.
1) diminished responsibility 2) jurisdiction
3) acquisition 4) jurisprudence
75)- —--mmmmmmme- is an official decision made in a court of law, especially announcing
whether someone is guilty or is going to be punished.
1) verdict 2) act 3) summon 4) warrant

B- Reading Comprehension
Text One
Read the passage and answer questions 76 to 80.

In criminal cases the burden is throughout on the prosecution to establish the case against
the accused beyond reasonable doubt. If the jury or magistrates have such doubt then they
should acquit. At the close of the prosecution case, counsel for the defence may submit that
there is no case to answer; if the judge agrees the jury will be directed to acquit.

Normally, if the accused puts forward a defence it does not have to be proved but
sufficient evidence must be adduced to go to the jury (the evidential burden) and if “it”
creates a reasonable doubt in the minds of the jury they should acquit. In some cases,
however, a defence on balance of probabilities must be proved, i.e. the civil burden of proof,
e.g. insanity, diminished responsibility and under the Prevention of Corruption Act, 1916 (s.
2), where a gift shall be deemed to have been given or received corruptly unless D proves
the contrary.

In the Crown Court the judge directs the jury on the relevant law and the jury applies the
law to the facts of the case in returning a verdict of guilty or not guilty; the conviction will
be declared in case of guilt.

76)- What is the main idea of the passage?

1) The differences between the judge and jury 2) Burden of proof

3) Acquittal conditions 4) Prevention of crimes
77)- Based on the first paragraph, the defendant will be acquitted if ...

1) there is a reasonable doubt against him.

2) the jury determines even if the judge disagrees.

3) the judge determines even if the jury disagrees.

4) the judge and jury agree.

(YY)
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78)- What does the word “it” in line 6 refer to?
1) evidence 2) jury 3) accused 4) reasonable doubt

79)- According to the text, defence on balance of probabilities must be proved in
cases such as ...

1) when the sufficient evidence is adduced. 2) the civil burden of proof.
3) diminished responsibility. 4) None of the above.

80)- The word “conviction” in the last sentence is the closest in meaning to ------ :
1) discharge 2) sentence 3) disbelief 4) certitude
Text Two

Read the passage and answer questions 81 to 85.

Whilst offer, acceptance and consideration are described as the basic requirements for a
contract, terms might best be described as the ‘ingredients’ of the contract: they tell us what
each party to the contract is expected to do under the contractual agreement. Terms thus
identify the respective obligations of each party under the contract: “they” amount to
contractual promises. Contractual terms are, therefore, to be distinguished from mere puffs
or representations which are non- promissory in nature and do not amount to terms: a puff is
an advertising statement which praises the advertised goods in such vague or boastful terms
that the statement made cannot be taken seriously. A representation is a statement which
induces one party to enter the contract but which does not form part of the contract, i.e.
which does not amount to a contractual term. This distinction is important as only the
breach of a contractual obligation or term will give rise to liability for damages for breach of
contract — if a puff is broken or false, no liability is incurred for this; if a representation is
broken/false, the remedies, if any, are those for misrepresentation.

81)- What does the passage mainly discuss about?

1) Requirements of contracts 2) Terms of contract

3) Representation 4) Misrepresentation
82)- What does the word “they” in line 4 refer to?

1) contracts 2) terms 3) obligations 4) promises
83)- The contractual terms must be ...

1) differentiated from mere puffs. 2) non-promissory in nature.

3) not the amount of terms. 4) identified by either of the parties.

84)- In which of the following choices, the liability for damages for breaching a
contract will be assumed.
1) When a puff is false 2) When a representation is false
3) The breach of a contractual obligation or term  4) All choices.

85)- The word “mi'"'srepresentation” in the last sentence is the closest in meaning to -

1) Falsity 2) conferral 3) negligence 4) witness
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Text Three
Read the passage and answer questions 86 to 90.

The main concerns for international law are war and peace, whereas the primary aim of
national law is to avoid the conflicts between humans and establish civil peace. The great
thinkers who contributed to the establishment and development of modern international law
intended precisely such a mission (the avoidance of war and institution of peace) for
international law. Moreover, across the centuries, when the world appeared to be principally
Eurocentric, the law of nations emerged mostly in the form of peace treaties. Meanwhile,
Europe is the birthplace of the ‘law of nations’. Accordingly, the legacy of that period and
its European roots are easily recognizable in contemporary international law. In order to
meet these purposes, some sources were needed; there is no hierarchy between the sources
of international law. In general, there are three sources of international law: international
treaties, international custom and general principles of law. In international law, a special
place is occupied by the unilateral acts of states, the subsidiary sources of international law
— the judicial decisions and the teachings of the most highly qualified publicists — and the
soft law.

86)- What is the main idea of the passage?

1) International law sources 2) The definition of International law
3) The primary aim of international law 4) Development of International law
87)- The avoidance of war and institution of peace were the main aims of forming ...
1) International law 2) Law of nations
3) European roots of law 4) International customs

88)- Based on passage, ...
1) Inheritance of international law roots in Europe is not easily recognizable in
contemporary international law.
2) Legitimacy of international law roots in Europe is simply recognizable in
contemporary international law
3) Legacy of international law roots in Europe are easily identifiable in today’s
international law.
4) 2 and 3.
89)- Which is TRUE based on the passage?
1) The sources of international law are not limited.
2) Some sources of international law are prior to the others.
3) The unilateral acts of states are among the general sources of international law.
4) International treaties and international custom as well as general principles of law are
the sources of international law.
90)- The word “subsidiary” in the last sentence is the closest in meaning to ...... .
1) Secondary 2) Subsidized 3) Preceding 4) Primary

(V€)




ogad Ggi — )l wld)S # VEY Jlo (63999 G905

(VY G Y Jlguw) ais

Shgud oo Sl dald Wi b cudyy 4y 35l g B8 —(1)

Jals Vo sals ) (F Jals Yo sals ¥ (V Jals ) - sals Y (Y Jals ¥ o aals ¥ ()
Sy glio sﬁ" _;539 p§> -y

L > (¥ ool o Sy 0jlal @50 53 ()

o o (¥ o e Jsiio e Jlpl > (¢

SCasl i pluS” iy yo5 €Iy Byl 3 Ll —(AY
Conog (¥ 23 (7 <Jisy (v 4y ()

q.ayﬁ‘:o PJ.a.o L,U‘Q')B'QGS&PIJS J,E ¢..\3.>)5 M t\g,.a!u LSYK 39 w;b),a)b wt&,&.ﬂb)ﬂ —(‘\f
Sbo - o (\° wl.é—-k.ﬁln(‘” &Lo_g,uol.é(" cwole _ coole ()

SJ":’UAJ l)%l ‘)DLA.; ‘).’J’)’ J)I’A }l A.ig. fL\S » —(\A

3)ge dan (¥ gl (S (¥ alice (¥ aaila ()
S A f dslall sae 6 ALl -(8
Ll Lm (F Ml JoS Y (¥ lall JoSo (¥ 3l s Y ()
Aot s dguns G Julll ol oril) LKoo 8lelyo (190 oy shaiall Jobi» Sums b3 €10 oS —(AY
sl caly Lo L (¥ ol Gy o)l g LS ()
ol ey oS Laid (F g g 0 )i g L3 (¥
Sy dulsg Jol durd S5 3o bijolur (6505 Cue o Jgl Cupe 1 jlad Lauwg 3 ST —(WA
09> il g ol ola (¥ 29> Sl 5 Jol pleil (3
9 2 sl Sl 5 Jsl gad (¥ 9 2 Sl Sl 5 Il plos (¥
— Al ie —(a4
e glasy) ade yin Do & o) o,0¥1 Jhas (¥ oyl Y1 S (3
sl e o) Jla (¥ o)l ¥) s Y (¥
s oo dyylide Gl pd dyjS plas’ (Ve
JWl Jol o tits JlaS sl B 5y 5 (¥ B 5 o2l & Laall oo Y ()

gyl B Y1 Gl 5 (F 99 Led Jaall oty Al iy s 5 (1
Il Bis —(V+)

— (¥ — ()

—— (¥ — (v

(V)




I 1
oy Goi> — M)l ol S w8 VESY Jlo (53959 905! 1
— Aoodl 3 aule Logdlid) 5 o Ja W 518 5 yotll Jioess (b (g paally I Cilis) of o —(0-¥
Jeomll pas dloY (g riall il (¥ Bl Jsd pay g b ()
ol o 5 (0 (1 el pae LY ) i
€ luaall B3 P oS5l b Lo —(1oF
B et el e
A g Bl 1l e d> oo (P o> cog (¥
S (oo sledl udatdydy baolpd jl 438 plas” —(v+F
ojle (¥ s (¥ ojle (¥ oghes )
Jow Bis —(V+0
— (¥ — (¥ — (¥ —
S Bls —()+5
— (¥ — ()
— (f — (¥
Jlow Bl —(VoY
— — (¥ — (¥ —
S & 3Y1 o Al gyl ool f —(3+A
Y i ¥ S i
ks Y g il (F chiy g Slall il (¥
+ o ollae] diall zg31 431 of —(V+2
SRR,
g yiall 5 5 g cinatll (¥ oy e yiall B o 5 el (¥
— dis sty of Lo yoladll &l atiall peuds Y 9 —(V)
dlo 5 Bl (Sl yaid (¥ lobad Y lallas Lais 45 w131 yanied ()
o okl i e (8 Joll a0 2 Sl s
(V¥ B YYY Jlsuw) 48d Jowo!
LI p— iy o5 Cgladll dayd 2oy g ddlate Cuty £ b JS» —(V))
ibaio o (¥ o o (¥ Izl com (¥ s o ()
ool e olraaiinl =(VVY
s o Jol (¥ ozl s (F o el (¥ ks Jol 1
(\YV)
b i




i oyad Goi> — bl wlid)S # V2T Jw (6399 G90)) b
S sl JuId ciloade g3 iy 5 ol 1 Soplas” (VY
ol Dgdume 4 Ulgyl waxe 3 ale 5 ole G ()
s ol dsbly plSo ] Jlizol Jloa! (¥
Casl g 5 s pilne Jlaa VL pglas plSol 5 bl (¥
35 52 e Jpol 4 3 320 5 22y 0 o 2
S dolie pody Lo g ple (V¥
el GlS5 555 gl ol e (¥ ol GlS5 5 by ()
) G5 b by (F S5 e by (¥
.............. solae posye Slas 4y —(1)0
ol 04 2 Comanw 920 4 Syl (¥ ol 0l oo ple Gb sl (5,8 3> Ly @l ol ()
OS] <o - 5o T
S Mol fus -(1)#
T
sl (258 @S> panass loa (F 285 el 1,8 oS 5o (¥
Sl plgia pd  Jyge 4 > (WY
il e (Jol i o5 S (¥ il e Slalb (S 55 51 ()
b o 1 5 515 A
G| wevnrrrassasssses sbine 4y o s 4l 3 —(11A
Sl Js(F (Rl I i g J (¥ ol pas ()
G| aener Yl &y a5 il BasB 5 )b ;) f_l»l Cooxs —(1)4
S ) o (F S andle (¥ Py o
) gl g Jobs by sy ) us, .......... —(3Y-
o3ga50 £ly] (gline 4y 00 (¥ ados & (¥ CHEREE st s ()
V. S PES — 2 YD G S ploul e pulito By ]yl —(VY
b glias 4 L (¥ B ol (¥ oy ()
JEIV) E— o Jo8 cuzes p Jdd 1 i pilie posye S5 51 (VY
e it 8o (F glos (¥ S b (¥ Jis oS (1
il odel Eylie ol > S Glouatul pludl 51 (S5 —(VYY
Liz 3l m Lo o 3,0 3350 b diblo el )il A3 s 5 ] T 3o S Sl S bt 5, oD
R o ol 3 €loz gy o Lo s
U o5 5 e
Db g0 ()l o I3 Lol 35 00 ()l 3,8 )5 Clovatul (¥ D9dised ()l 2,8 5 I ) lmatl (¥
(YY)
b i




woyad Gy = Ab)l i) we VY Jlo 639)9 (9l

 cornennsens agolol 0By j3 —(VYF
e
sl Com Cuglyl g Clglue b3 (F ol cos dlall bt 9 Coglgl b (Y

s aune g 525 €W e Al Bghoy udi> z9y3» (VYO
2599 (F a5 (Y a5 (¥ CansS ()
Sl pl3 cony 4y bagyye 4y 35 plas” —(VYVF
el lia > G35 (F o pli o glizel (v A a3 gl v e plio > SIS ()

LI R St &y )l € o pMullptale Con ol 5l pouds 9 of],3 b paldsn —(VYY
- Jgad colo (¥ o8 lipe (¥ sbail & )
TR — Jool ple g9690 yilas pg>ye Jlas &y —(YYA
a3 o (F RISl e n ey axyl 4l (¥ 31 o Loy dnpy) ol (3
 sunneesssasssmssnssesessss olratsl ) —(¥a

] A S oS g yinio o 9 Kb g iy o ()
el Gilisee SoSiiio g yito loj 9 b 5 (i o (¥

ol e e i L

el Ao SgSlie 5 (st Gloj 5 Blisie S g oy )loj (¥
Caaw] e ey 932 (59l) Clao —(VY'+
aopais i (F Sopo (1 s (Y Sgaao ()
(10 B YY) Jlgus) e ool

Alad) a8lal la gSlpo? i g line Kla oSl (0P (> By &y y9y5m0 €Ay B (auad (glize & €y ()
Ay gizo LS| o gSlpo» )8 13 KlagSlgo (po» diine £o8 40 Yoo 29 0sly €y (Y

Aglag) asls) <<’La,§l¢(o»‘,§ 5 1t €lagSlps (oo cdgidono 4y Blaie > By dy o500 €&y, a8l « P> (¥

! guuo «OMST canio AST o WP Cuts CuS'y5 6)l,0 4033 plas’ —(YY

& Jgxie €MD iilinme dlos €Caiod o) o Gys €yo> ) Jgaio s Joo 43 oS (¥
@ Jorto €MD o g dlor € ) > By €4 &y Jorto cuad Joro )0 €oS» (¥
Jeld LOMH (oS s 28y Joro 3 €Cwmio? 5 > By €y dite 28 oo )0 €5 (¥

(YA




i oyad Goi> — bl wlid)S # V2T Jw (6399 G90)) b
Tl g0 B pain e SlolS don iy 35 IS 5 —(IVY
bl — Cginy = byl (¥ Qg = o230 = by ()
36 =i — 205 (F o — 835l = panl ] (¥
Cosslpd € L] 55 YOAD 1138 asute |y alon ol gusuo denyi —(VWF
oyl Cylad g annyl g lovmos g VT 53l (¥ ol ol il 5 dxpl g Bloiuad 5 ST ()
el s 5 5 Bt VT 036 (¥ i e 5 ol leluas V1 8 (¥
Sl Caurp3 alox S da 5 —(VYD
ol oo yiag 1y ¢ 5 1SS Byel ()
2313 gy Jlo 51 i 1y il tes 5z Jlall cye olall T 3L (¥
_*~
65 il plen 4 55 el ol el (F
el Canl 535 a5 —(017
48 )Y @l la (V 096 ol 5 s ()
ol i 5 ool 81 (1 el el 35 5 Jpull Bl (¥
Sl 4398 «aleld s squdl B ol & Y Loz > e» lyel (WYY
soree b g8y (¥ cyaie (¥ _ g9y ()
Sl e 4 135 S —('¥A
s A1 e
lgpalno Aslall 3 all ol (F L,wud;ouwl)(v
€ = (gl = Lol = U gty el &y |y 0 asedio gy> g9 —(WYR
S = yniaos = s = b5 (¥ S = B = s = s ()
i 5 = = i
S gasede |y g5lde b el )3 Condl a8 —(VF-
A s b (¥ s 55 Y1 (¥ Siols o (¥ 1555 o Ja )
Sl Can sl 4ig38 plaS (O
Al YAl s (¥ [t et Iy
- Obde) o (¥
el Cunpl 55 S (11
_ pos ol 5 Byl (¥ pofs ol ;38 (¥ pofs 0l 5 (o )
0,5 2929 3l Jgaio Ob iy plaS” 10 —(VFY
DEEE el o o
S L s sl (¥ [PPWAN, L«.lu Saale (v
(14
L il




woyad Gy = )| wlid IS w8 V6 Jlo 639)9 ci90)l
Sl 439,55 Cpgo B el 4iy35 1S 5 ~(VFF

e (F osbas (1 e (¥ o
Sl geomio Caigis 45T o 4 €U — 9] = B Y = b3D Jlebl ST o)l3 41y 35 plas (1

ot G- g -

e = Lygmtdl = 5l Y = 3l (¥ b — it = s Y = e (¥
St b d 51 €otalare — wilB) — gy — cag? )5 slaojly 51 plS yn ~(VFF
Jels = Jelis — Jais — Jludl (¥ alelio — Jelis — Jai — Joni ()

Pt~ i~ i~ g Pl - e - g

S et |y €Eab = duls — L] = LS slasjly 31 plS yn g5 ~(VFV

o i o o iy )

Phae ol = 8y0 yhae = e yhas = g9 yhan (1 35m0 jhuas = £95 pheae — (o yhas = 8ye has (F
Sl a4y 35 plaS" ~(VFA
oty 8l oo (¥ il o) oo il (g) gl (
L] SlLas oa (F Ml sl Vg (¥
Sl gusto €4 el yos sld dach (glapusl 455 )3 sy 38 plas’ —(1F4
O lglye> (o3 s (¥ Ol sl <ol lgas ()
O cclshen <35 lyas (F oty olelyan e elys ¢ sluas (¥
Sl o €G] ¢yl (o yhuw e yd» (gloojly pukual )3 4l 5: plus —(vo-
sl g Je o ot (¥ 8281 193 o e conter ()

5281 825 e ot el 8,05 e i F

(YY)




\\\‘\\})\( ),{,I,/,

S
Qs

N

£
3
<

(o)) s plol Dga5 o Mol CSlow g Mol olKiils |51

4 N
~
1Fe¥ b (59959 90T
: Ll pgle alSudiila
U o G
N r y
4 N
& * & *
dul yf gl b2 AdBdeg
[ ] o0 & [ ]
(ol elaial yliila
g J
g 3w g (09,5 el
cups | ojled b | ojled I | Jlw olass (Sial dlge iy,

¥ Y. ) Y. Oodus slois! uly [
Y v DY Y- N P T
y a. vy Y. S S 5| ¥
¥ ). X! Y. s oo
¥ Y- N Y- wb Jgol | £
y - T Y e lodl |V

428 10+ : oSl Cio

J1aw 10« : Jlsu sl




onolus elazal S5 = 4l gulid S # VE-Y Jlo (639)9 1995]

(e BY Jlmo) cyuodne (sloinl yEi1>

o A 5 Cloxiue b 5 S Slaly 511, (00 ple 1 a9e) pole o (£S5 lole 5 Sy plas” ()

9,5
lbblb el (F (edome aaMe (¥ ol (031} s 4D (¥ b e ()
by Jitue ($39290 (lois 4 desls &1 dgi (o0lio oyl slte & |y P o5 oSt I S plS (¥
S35 o
ol (odlgs bl ol (¥ &b aoMe (Y Sytdao as (Y Lol deMe (Y
i Globus litadtily elaial OS5 o Sy 5l 525 3)lse IS plas (¥
83 9 s (e (¥ o 25 1 (Y ole (Brlan (¥ bS] ()
Dg) 20 9 bl s 0 T e Sy —(F
by ol (¥ a3y ol (¥ Gl Sl S gl (O
g gt SelS308 ¢ bl oo ST 5 s Gl yo o s glas (o
Caaw]
2 gdygle ol (F gsiod (JIje doe (v Galillg (Sl cgpdls ol (¥ IS o2l (O
WAl 42Bls 3929 ST 2l 9 Sty oy ol & dg Aine (wgb cpll jual d2ld (P
b g Ll (¥ 2 g dsele (1 (ool g (elozal (¥ 4ol a5 oy ()

S5 — o0 S5 dnaly )0 elasn] J S 5 pade |) Cusme opj Glbieuds bl 51 plas” —(V
Qb e (F o el (F b Sl el (v S GIEEEE
b iadad ol o SIS 4l g gty Kinyd 0 el (gaalllas IS Ly ) lodune sieilily plas” —(A

ilod, ol ol 4 bl o,

i ol (¥ S oeyel (¥ o5 ol (¥ il bS5 (0
9 )bn‘.w‘ 9 I [ dgub g0 uf—hv“-?| M ufq.l.\.g J.olf— 49'61 & Do ),lg L}gj » u‘l‘)l'é )..439.31 —(‘\
RG] 5;)3 M L}g" )‘)A:&d‘
iy e (¥ cdie iy (v ISR o wdlie gyl ()

s Bl o] (3555 )3 (o)ed G Sy 5l 25 3)lge SIS plS” (0
)15 syt (Al Slo g 0352 35938 (loye TSI ()
Wy dsels Glab (S5l paSotiue (ooliie] Sy il e (S5 @ (Y
Milades oS g BB sl Ll (Y
(

Sygle Glaal bl a5 00l e Gy ol el Coged ) laiag 3 51 5095 (¥

(V)




i ool elozal s — il ol IS 8 VEoF Sl (63939 3905 1
S daolr oS (gl igllas (sla Shag dloa Sl Sy (lowypdl a3 53 25 5)lge 1SS plas” —(0)
5l dnols jgel (50,5l g sl 4y AiadBMe oz BI5 (¥ il gl goslyl g csly (sl ()
3l Cwly sl Y o Ol g 95 s (¥ _‘“
Gl P8 bl cyno g Coodgaoms b Canwg g Cdgd puile 95Kuige (99700 commmmsmsnsnnnens —(Y
S (f I3 dae (1 (s3gle (¥ o5 o) (1
Otz 9 018 P fpme (Boi> 5 3> plb 1 g pollas sail (dly Sl cwliw (G4RE 53 en -\
s gl ol G593 521y dnele
Ogl ol (¥ ke S (¥ - b 7S ()
P Y P p— Iy Solallyw GUS 50 398wl slacory ool jooe ¢ wob Slal pllas anles —(VF
Sa]
eleis] cllss (f ol (¥ cdlals (¥ cads ()
oo Cale oaiS s (slajpm oz 1y oo g (oolBl Lulyd g 3o I 635 2929 clianta il plS” —(00
Sl
(0)) e ol (F ot 2 (1 S (Y it 55 4 ol g O
3 oo )| o) e 5 (a5 a2 (g o pole 5 5 (B (07
ool bgiyo ot lle g oo slpgle 4y &5 segls ()
WS (o 5B o 9 (275 pole gawd )3 O agle (¥
S sl &g S 98 5 5 o 45 Bl Sl ol & ol (F
D)l dnsle 53 (ool @l g (SHS] Jlad @S5 g (i Oolaws 4 o (oagle (¥
Suns (138 daze ) cnllpgle slo) QS gaml Jouad 51 525 3)lge 51 S plas” —(3Y
claly (F SlSlgo (¥ ol (¥ Sl ()
2yl 4 5 lod p lodue hiadds bl plo 5 i (LB yaig) —(VA
_ &b g dxel> (¥ > g Aadd (V > 9 ol ()
S 53 oS Wl e ple Blie o &jlis wlus! i |y 5,8 oale pud Cuow 4y JoloS conernernee -("a
SGS alsl Wle 3y 1, ol culis & AGS o W sloss o
yho 3l sazme du (¥ Ml 4 (F (539350 JeVlpl (¥ oo s ()
Jiadl s 53 odse Sae (B9 b el i ) (alblb dedle Gy By) Cglis ol ede (Y-
S
o s glis (¥ Lo e glis ()
el s il Lo coglis (¥ ol cpdlis g9 glis (¥
(M)
& )




i onolus elazal S5 = 4l gulid S # VE-Y Jlo (639)9 1995] 1
Mg Sy jn o Al g Lacl & (il e doly ased calsio 4 g (pls) JS S Ty dnobmmmmnn ~(1)
)l adge 4 (3,5)5)
Oos ol (P Sl pllas axlos (¥ o ol pai axlgs (¥ b logz ()
S laall 181 e | Casls ple b usbus (AT Elgil (600,551 )3 25 3150 51 S plas” (1Y
apasd Coslp ( agole Canlius (¥ Qg8 Caslo (V45 sl ()
Sl (Foym louygl 385 ey S Sy 3l 325 Dlge 51 Sy plus” (VY
Vo s (] s 5SS adllee (¥ Solde odalie (V1 (el aalllas ()
S e gl (655 IS odes Jolo 93y . Pyp— Qb qwsb (pdll el axled —(VF
ol g lie (¥ oo g 138 (¥ Sl g s (¥ OSwwa 9 138 ()
s () jlate 5 galgr ples Jle 5l 3590 plas” —(¥0
@5 gl (¥ b ol ()
ol (F Lol g5 9 G- > ST (¥
KLj g0 gy Bl &) Cuwd g ol @B 42BIS ) okile (sla 4 Cumdg 4 > (yudy cdls po ol ) (Y5
oo Gluls 4l &5 cusl oped sBCIgd Gailomy Jolpe 5l S ol 4 JbU sl @)l iy
T2 9] 3929 41 Coppas
Sior s>y (¥ SalS3g5 ol ya ()
25 5 Blpl gals o (¥ 5> Colls 5 g B gl o (¥
Sl gl cpdllpai d2lgs st jl ploial LSi5 5 350 Jelgs 5 55 3)lge 51 plas” (VY
390 4 o (F ol & S s (¥ st Jole (¥ Bl Jbs ()
) haT 0)g8S g ol cyos o it 51 s ~(*A
(s 3L (¥ Copas (1 $5o9liS (¥ et el ()
D)1 ity Cblid o1y Sl wlbw Moyt pliS” &y Slal pllas dxled slaads il —(Ya
g9, (¥ ool o] (1 Jobsle (¥ A (O
TS 3l ple o, )3 wlidold LS s (¥
sgb llymal dxles (¥ o (¥ Sloll pllss axlgs (¥ U (sl ()
(00 BYY Jlgw) owlidanols slaey ,las
Sl puolibdnols (gl molio Ly ya3 diy3S pliS —()
ozl (slrogS 53 31,81 (S5 adllas (¥ Lol (29,5 (S5 (oode aalllas ()
anols gl 35yl pllas adllae (8 Shl gloog S ) dxls Lasl )k, adlas (¥
(™)
L= A




Oolus elazal G510 = 4l gulid S 8 V64 Sl 63959 (190]]

) (Kb Slyee L g (Bi90] 0 s 90 3B oS5 55 4 (VY
o o (6 Slole ol (1 GESEEE w0
SWlgl 09,5 Lo dmel )3 ¢ Jod (slag S 51 S plas” (1Y
gl So ol Bless (€ S5l wh G355 09,5 (¥ _ o3l ()

basg 92,05 pb undg 4y i (59 Wl 515,38 U o) g2y (game slayloxia dnoly 3 & sy —(FE

Sad yhae awliddacly jd ouS 4>
o e~ s i o~ i
S 993 ool = i loxis (€ S CawgST = il (¥
........ a8 AGS oo M dewed (51565 4y Lo 5 cpalgn o jd (Vo
515 il S s Sl 5 e
ol o 3)lge don (€ S RS 65 8% Coge ]y page ol (¥

Sy (oliwgy galgs 50 3,8 elainl oGl oS yuns Jole o Spte —(1
Shoslt gl B -

Yo\ slaan S (¢ dacly aols (¥ awsly O (Y dmoly (glaolgs ()
...... as b)g..l:'@ Sy w‘.(?.b ‘.b)‘.'{d.b uﬁ),gjg (\“A

D818 1) ibe g oyiled 0,8 (Y D9 Juascdl &8 ol 51 gomiily S5 (M

(
e R,

5l Cusl e S8l slaral b s (ly SHo ey —(M

Jis g elp> (¥ e s g el ()

o o o S il
........ oS 4l o iy (gl dmaly > (598 Jlasl &y sloz] (lajtin —(8+

col axtl o511 ool 2 S S 5 A5 L )

sl o el (8 sl ji o (¥

S e JUio |y (B d dady) 9 )i 5l ol dsgaone dljie 4y sloal llas —(£)

ek g 3 5 el ol 5 L

drol> (g2og)S po CMoles b yiuS (€ 09,5 sbacl gl s Codgasme Sl (¥

Sewl pllas ya ol glad SIS 5 5o S plas” —(8Y

3ge aan (£ Sk (¥ a4 s (¥ ol
(%)




i onolus elazal S5 = 4l gulid S # VE-Y Jlo (639)9 1995] 1
Sl s 3y90 pS (St b 2liss ol lai ol 5y —(6¥
o 3 . o i i
s gusuo plaS g (¢ ol 3La5 dmy (glyl> 1aad axels (¥
Sl d> &y Cuue o wlidasely lylas > —(E€
(5399 Slo e 5 it (¥ o slalle ()
wazh ojg ) ba)lid) (& szl ojg> )5 ks, (¥
Sal Fguyb ol8d plusl 49 €SP 055l polis 555 S pls” (80
SRS Sas (¥ SRS 392 ()
>)lgs e (£ Gan a4y s el celio Ll (¥
il g0 basye YIS 4 |y (sladdge 4y 5aS (€7
s (8 N sl (v @88 ()
$amy (o2l LI 28 yme i e oloytle 1 5] —(8V
o) S sl (6 i s3kala, (1 ol ot (¥ B Sl )
S o > (gae (loin] RS (gl |y ST (i dr e olid )l Slaie 51 —(EA
J 9 o0 s pyed i ) 2 St 1 o oo
ol g G (€ o1 4l (slaos Sl o] (g ites (¥
S0 &) g b bauogs e ples lize S pellano] —(£3
S i (¢ o8 (¥ - Ao ()
Syl ST 5aios £95 plS" 53 o)l s (oS )l —(0+
o (¢ Sl (¢ @S (1 el sl
(Vo G0y Jlaw) (sloix! pole )5 Balodi (g
Usdioo (b (slair] (S0 35290 Cumdy jl (A gl (il sl Jod Sldllas glgl 1S plas” (0
St (golaia] uds 0))d (g cuslio
Ko Job clalllas (¥ A o Jsb lalllas ()
bt s
il oo (it Comlio badps )b ¢ elaial laimgg; jl g9 plaS ;> —(OY
B e
Ao (¥ 505 izl g3l nl 45 ol Simgs (¥
D980 JUd (il Pyl 3 (Ban (3 Slaal e 51 —(0Y
ot (F e it (7 cilas (v o ()
(®)
b i




Colune olazal (230 — w5l ol IS i VEY JLo (639)9 (y90;]

SuS oo oy |y eloanl il 13 pow Cawd slaodld 1D (slroyliS 51 S plus” —(0€
o IS LMLl (pslper dad & b lodd £)5h)S (500 et hwg ME oS ol sl ()
D330 byl o a4 (6,500 Ban b sl S 380 g el cowy slalol plo b Fgd (elaglos puo
Casle 030 (5135 5 o 539155 cadllas )b Jghws 353 & N (o A5 (5 Sulmgly Lawgs (¥

Pl (¥
S e ol |y geite L2 b 93 (g CBge dlaly i oMol I plus” (00
Jae (¥ ki (¥ 4 (¥
@ oled ol 5l ool g iled IB o b ol (B3 paesi L B 03l b clialite zilsl jl <S> (07
g e Jd s slace iyl 51 S plS” 1 gy Slinlitie s (sly (oS ailte
&5 o (F ol (7 ol (¥ Szl (1
SlS il (yuad g b jiio ) pulio Jaas b olaia] pole )0 penlie jl odlitul (glaciuw 5 Sy plus” —(aY
,15,08 5y Wl 5 So3ll oy (Ao g b ol iy glain 4y o (gladllas 15 oalizisl 5,90
e et o
g i ¥ ol i (1
S eloinl pole ;0 ()5 sloytmgly Slunl ales 51 > Slual I plas’ (oA
5 (1 R
O)las g 2l (¥ eloiz] 3B 3,0 (¥
s o3l (5)903,5" (sa5" (sl ybg) alex 31 s 3)lse 51 S plas” —(29

5 o i

bl el anlan (¥ dolidin y (¥

OIS 365 ally 5l e elaal Gl o L dlug) gody b (sled (1S (gl (LYo ol (-

4B ()

o (¥ o (¥ csLass] (¥ o ()
SCusl dagi )90 (S sloodls b3 )5 ols yob dy i3 slaisdg) I <SG plS (%)

ot (¥ S5z b fogme S ()
sl e 5 copna e 5155 (8 e o
2yl g plite slo Jlg g sanlie JB cloosssy dds slapuslSo g boylisls cass’ gly S —(2Y
ad e JUid hgd; slasilyiul 1 S plas

PRSP T

M)




onolus elazal S5 = 4l gulid S # VE-Y Jlo (639)9 1995]

TS o JLin Iy (3un 43 Gie olpdtl (ol ymel > —(FY
Loy L3 (g3l ()

ol o S 4 s slagSl gmen & ale (slaprass ST (Y

0,05 (elogil Gimgdy (sl b 1y Cul B oyt sl porie slaciuw jlcS plas” —(F
Gl Slles cow (Y

Gl ol Caw (¥ S g Couo (V
Sl e 415 iy o > 33 (sladiysS e S (s
A eblie oo Laly) Sl o8 Canln o35 5 menlin (o] degucna (sale 4,5 )
ez (55 plite sl I b ohiio oSl 1 ln e 405 (
ol 3 ol 58y ol 5 (SSisSe o el (i 405 (1

-

Lig o o dlael 4595 (LS b g (6y9lmen dlael & jgo 4 aodly Sldllas g4 oyl 3 ()

3 ) g o eloinl (S5l ole asa gpSojlail g )les L (¥

255 oy |y g (81 W03 slailon oialejl aud wad (il (ol glailejl dlax Sl ola g, (F
) &S o Kingh slasasy j culss auws plas ( d 3)lse le 51 —(BY
B3 oo <8 S5 b Chnogs ()

(
iS5 e eleinl o), StiS o8 5l solitel cule cynesd

Y

(SERILSS (B el ade (yoa (¥

Sl (S slaingl; 0 goly (65 higes hg) Sy pMS (i3 (S higes slaiby) e 5 —(

slil> (555 wiges (¥ sladsd x5 Lo ()

S e s

‘g P ,‘ Lg‘).g as )“3“3‘ J-}E ),o,é C«nméﬁgfq‘ abas Mo ‘.3 )m,}: q;clc ,_‘é.:ﬁ#d’ Jb‘).o )"gg,g f‘.\f)b —(?ﬁ
?.3,;3@ 43’59535.3 S «° o,.‘q L:.&Tl.‘»

Y
>

adyd (pgli (¥

4y sl g odmlin (¥ ey gPmian> (¥

(V)




Oobus elazn (23ls — 08l wlis S s VEY Jlo (63959 (1905

a4 balis b WM oy Jold g 3)b 3l 42338 4 ool 4y pbcwsd glalase glgl 1 S plas” ~(¥-
Caslbog,S | 31,31 31 ol b
b do lalase (¥ b (sl slalasre ()
celaza] Slegimn 5 &Y guamo (£ b (gjlo 4 5 b ialojl (¥

Passage 1

Marx placed capitalism in historical perspective as one of a series of socioeconomic
formations, but it was not just one of a series. The analysis of capital and the prospects for
class struggle within and beyond it were his primary concerns. Marx read capitalism as an
economic system characterized by the production and exchange of commodities. Crucially,
human labour power itself is a commodity under capitalism, freely bought and sold on the
market. Labour is free, but there is a dark irony about this. On the one hand, workers are
able to offer “their” labour to, or withdraw it from, any particular employer, and so any
labour market exchange is one struck between autonomous people, legally recognized as
such. On the other hand, workers have been forced to be free, first, because the very
availability of masses of labourers to work in capitalist enterprises was largely the result of

the expulsion of rural labourers from their former lands and livelihoods.

71)- What is the passage mainly about?
1) Biography of Karl Marx.
2) Philosophical and political thoughts of Max Weber.
3) The analysis of Marx of capitalism.
4) Rural production method.

72)- According to the passage, Marx's primary concern is:
1) the prospects for class struggle within and beyond capital.
2) continuation of Hegel's dialectic.
3) justification of the supply and demand rule in capitalism.
4) explaining the relationship between Protestantism and capitalism.
73)- Which option about Marx's analysis of capitalism is NOT correct?
1) human labour power itself is a commodity under capitalism.
2) human labour power freely bought and sold on the market .
3) Labour is free in capitalism.

4) human labour power itself is a commodity under communism.

(M)
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74)- According to the passage, why workers have been forced to be free?

2) because of the supply and demand rule in capitalism.

3) because of human labour power itself is a commodity under communism.
4) because of that human labour power freely bought and sold in the state.
75)- The word "'their* in line 7 refers to .........
1) labourers. 2) socioeconomic formations. - 4) commodities.

Passage 2
“Asabiyya” stands at the center of an empirical foundation of a general cyclical law

inherent in processes of civilization. It includes a specific concept of social dynamism: tribal
solidarity is the motor of renewing bloodless urban structures and institutions. Since nomads
in general are people of desert lands and countryside, marginals in the real sense, sociology
often understood ‘““asabiyya” wrongly as a pure concept of social cohesion of tribal or local
communities and similarly Islam as the religion of communal holism and static societies.
Starting from this angle and neglecting the urban sources of Islam and the urban inclinations
of “asabiyya” would mean giving little justice to Ibn Khaldun’s civilizational theory and the
fundamental position of “asabiyya” in “it”. Ibn Khaldun was the first to explain history and
to take social development as the subject of theoretical consideration.

76)- What is the passage mainly about?

1) Biography of Ibn Khaldun.
2) The analysis of Assabiyaa of Ibn Khaldun as a christian concept

77)- According to the passage, why sociology often understood Islam as the static
societies?

1) Since Europeans in general are people of desert lands in the real sense.
2) Since Ibn Khaldun in general is an Asian man in the real sense.

3) Since Islam is the last divine religion.

78)- Which option about “asabiyya” in the passage is NOT correct?

2) The theory of of asabiyya has urban inclinations.
3) Islam has urban sources.

4) Asabiyya has the fundamental position in Ibn Khaldun's civilizational theory.

()
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79)- According to the passage, Ibn Khaldun ...........
1) does not explain history in any way.

3) has nothing to say about urban life.

4) has stolen assabiya from another sociologist.
80)- The word it in line 9 refersto .........

DISRRRSGAATRIGS 2 Ay

3) Islam. 4) Sociology.

81)- .o was the founder of *'sociology'* in modern era.
1) Karl Marx 2) Alexis de Tocqueville
3) Auguste Comte 4) Max Weber

82)- Which thinker was concerned with Protestantism and its impact on the rise of
spirit of capitalism?

1) Karl Marx 2) Michel Foucault
3) George Simmel 4) Max Weber
83)- .o has divided societies into "“vicious™ and ""virtuous' societies.
1) Abu Nasr al-Farabi 2) Thomas Hobbes
3) Ibn-Khaldun 4) Emile Durkheim

84)- Which of the following ideas belongs to Karl Marx?

1) Communicative action. 2_

3) ldeal type. 4) law of the three stages.

85)- Weber’s ideas on "verstehen" is that?...
1) the French word for understand the social phenomena.

2) It is a sort of Hegel's dialectics and its reverse in Marx.

4) derived from a field known as critical theory.

86)- Which of following books belongs to 1bn Khaldun?

1) The opinions of the people of the virtuous city. 2) Mugaddimah.

3) Nicomachean Ethics. 4) The Republic.

87)- Allameh Tabatabai explains the origin of society based on which principle?

3) Historical idealism. 4) Originality of essence (mahiat.)

88)- Social solidarity in Ibn khaldun has been explained with...

1) class conflict and revolution. 2) division of labor and Luxury.

3) the spirit of capitalism. _

()
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89)- The book, “society and history”, belongs to ...........
1) Abu nasr al-Farabi. 2) Jamal al-Din Asad Abadi.
3) Morteza Motahhari. 4) Nasir al-Din al-Tusi.
90)- The Structural functionalism in sociology belongs to? ...............
1) Max Weber. 2) Karl Marx.
3) Michel Foucault. 4) Talcott Parsons.
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71)- Before you ............ to the next question , you should take some time to make sure you
are happy with your answers so far.

1) prescribe 2) precede 3) proceed 4) preface

72)- I never thought you would get so upset about such a .....matter.

1) contradictory 2) consistent 3) colloquial 4) trivial

73)- Because the hikers planned to reunite at 4:00 P.M., they paused to ..... their watches.

1) Illuminate 2) reinforce 3) synchronize 4) chronicle

74)- To reduce ............ , company will no longer mail monthly paper statements to those
with access to online statements.

1) Fright 2) hesitation 3) conflict 4) waste

75)- When it was discovered that he had been operating as a spy, he was badly .......... in
the press as being a traitor.

1) Incorporated 2) censured 3) concerned 4) constrained
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76)- The teacher ............. the students into different groups for the exam.

1) decreased 2) removed 3) separated 4) relied

77)- We can observe serious .............. problems on the police force.

1) device 2) dicipline 3) possibility 4) guarantee
78)- He was not ............. dressed for the party .

1) mentaly 2) suitably 3) usefuly 4) continiously
79)- A: “Do you think we ought to .......... the police”? B:”No, I do not think so”.

1) inform 2) survive 3) perform 4)attract

80)- These people are .......... boring that we hate to visit them.

1) so 2) too 3) such a 4) enough

81)- As the man is lazy and has no ................. of responsibility, he does not work to make

money for his family .

1) basis 2) habits 3) sense 4) amount
82)- This new dynasty, ............. , owing its rise to the people of Persia who were

establishing a balance of power between Persia and Arabs.

1) Umayyads 2) Abbasid 3) Barmecides 4) the Buwayhids

83)- According to Masudi, ............... was originally a title born by the High Priest of the
great Magian fire-temple at «ccccecneen.

1) vizier / Baghdad 2) commander / Khurasan

3) Barmak / Balkh 4) Caliph / Damascus

sl (¥ oo (¥ > (¥ <l ()

85)- on the other hand it was dangerously near the Greek frontier.

el (¥ ire (¥ Sl (¥ 2313 ()
86)- The first step towards disintegration of Abbasids territory began in ......... in 755 A.D.
1) Persia 2) Spain 3) Morocco 4) Qayrawan

ol ool 435 plS ) " puidio b 25L8" o3lg Jolee —(AY
1) traditional 2) commentator 3) consider 4) calendar

88)- Very large proportion of the leading writers were non-Arabs, they wrote in Arabic
because.......ccccveerieericcnenrneeeeeeenienne
1) down to about 1000 A.D. Arabic was the sole medium of literary expression in the

Muhammadan world

2) Arabic language retains in scientific compositions until the Mongol invasion

3) Persian language did not have appropriate flexibility needed for literature and scientific
writings.

4) both 1 & 2

(YY)




- ]
st Sl 5 iy = bl gl # VEY Jlo 039)9 905l Lt
89)- When Islam came across their path, ............ saw that it was a simple and practical
creed such as the soldier requires, so they accepted Islam.
1) Barmecides 2) Abbasids 3) Ghaznevids 4) Buwayhids
90)- The word of creation and all that is in it without exception are the portents of the God.
The word “ portent” means..............
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71)- Before you ............ to the next question, you should take some time to make sure you

are happy with your answers so far.

1) prescribe 2) precede 3) proceed 4) preface

72)- I never thought you would get so upset about such a ..... matter.

1) contradictory 2) consistent 3) colloquial 4) trivial

73)- Because the hikers planned to reunite at 4:00 P.M., they paused to ..... their watches.
1) Illuminate 2) reinforce 3) synchronize 4) chronicle

74)- To reduce ............ , company will no longer mail monthly paper statements to those

with access to online statements .

1) Fright 2) hesitation 3) conflict 4) waste

(%)




) sl 9 b5 = Ayl wlid S VE-Y Jo 639)9 y9)]

75)- When it was discovered that he had been operating as a spy, he was badly .......... in
the press as being a traitor.

1) Incorporated 2) censured 3) concerned 4) constrained

76)- The teacher ............. the students into different groups for the exam.

1) decreased 2) removed 3) separated 4) relied

77)- We can observe Serious .............. problems on the police force.

1) device 2) dicipline 3) possibility 4) guarantee

78)- He was not ............. dressed for the party .

1) mentaly 2) suitably 3) usefuly 4) continiously

79)- A: “Do you think we ought to .......... the police”? B:”No, I do not think so”.

1) inform 2) survive 3) perform 4) attract

80)- These people are .......... boring that we hate to visit them.

1) so 2) too 3) such a 4) enough

81)- As the man is lazy and has no ................. of responsibility, he does not work to make

money for his family.
1) basis 2- habits 3- sense 5- amount
82)- A person who knows nothing about literature may be an ........c..cuueee..... but many

people don’t mind being that.

1) Ignoramus 2) illiterate 3) imagery 4) merit

83)- I grasped the main points of the lecture. "grasped" means ............

1) separated 2) inclined 3) uninhabited 4) understood

84)- As soon as you plant a garden or a crop, you develop the conception of a weed, the
plant you don’t want in there. "conception" means.

1) image 2) diction 4) idea 4) figure

85)- The name of a fiction in Greek mythology in which a prince kills his Father and

marries her own mother is.
1) Divine comedy 2) paradise lost 4) king lear 4) Oedipus rex
86)- A figure of speech to show sameness or identity of two things is called.

1) Simile 2) crude 3) metaphor 4) analogy
87)- A work of literature intended to show the foolishness or evil of something in an

amusing way is called.

1) tragedy 2) romance 3) theme 4) satire
88)- A long poem telling the story of the deeds of one or more great heroes or a nation's
past history is called epic. “Epic” means.........
w6l (¥ swlos (¥ S (Y ke ()

89)- A short poem or saying expressing and idea in a clever and amusing way is called

epigram. “epigram” means........

x5 (f o (Y ai (v toliyles ()
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90)- A long written work dealing systematically with one subject is called “treatise
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Choose the best answer
Part 1: Vocabulary

71)- Nor must one forget the cosmological significance of the nocturnal ....... of the
Prophet.
1) appeal 2) ascent 3) assert 4) inspire
72)- Such concepts as bodily resurrection and the various .......... events as
understood by Islam or for that matter Christianity were alien to ancient
philosophy.
1) eschatological 2) theoretical 3) heritage 4) unveiling

73)- The Qur'an and all aspects of the Islamic tradition which are 'rooted in it have
both an outward and an inward ..........

1) crystallize 2) sophistry 3) ratiocination 4) dimension
74)- In no branch of Islamic philosophy, is the influence of the Qur‘an and Hadith
more evident than in.....eeeveen...
1) inspiration 2) incumbent 3) eschatology 4) illumination
75)- The Islamic philosophy which is ultimately never separated from spiritual
purity and ultimately ....... that the very term hikmah implies in the Islamic
context.
1) sanctity 2) affinity 3) allude 4) dormant
76)- The true method of philosophy must be, firstof all ...............
1) synthesis 2) Synthetic 3) analytical 4) mpracticality
77)- the value of philosophical studies has been greatly .............. in the minds of many
college students.
1) obscured 2) clarified 3) particularized 4) embraced
78)- On the contrary, Islamic philosophy is what it is precisely because’ it flowered in
a universe whose ......... are determined by the Qur'anic revelation.
1) contours 2) dormant 3) vague 4) Proximates

79)- Islamic philosophy is essentially a philosophical hermeneutics of the Sacred Text
while making use of the rich philosophical heritage of .............
1) quantitative 2) antiquity 3) positivistic 4) appeal
80)- The very term al-hagigah is of the greatest .............. for the understanding of the
relation between Islamic philosophy and the sources of the Islamic revelation.
1) monumental 2) wholeness 3) association 4) significance
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Part 2: Grammar

81)- This trend continued in later centuries ....... in Persia but also in India and the
Ottoman world including lrag.
1) not 2) only 3) therefore 4) not only
82)- The ............ thinkers have been practically a unit on the elements of the
definition.
1) leading 2) led 3) leads 4) lead
83)- Its mouth was big ....... to swallow a whole cow in one gulp.
1) too 2) more 3) enough 4) the most
84)- You should make time. Anyone ....... job is as stressful as yours should make

physical exercise part of their daily routine.

1) whom 2) which 3) whose 4) where
85)- After students finish the exercise, teachers may find that no .......... explanation
Is necessary, and the charts can serve as a useful reference.
1) most 2) farther 3) further 4) far
86)- The simple past ........... talk about activities or situations that began and ended
in the past.
1) uses 2) used to 3) is used to 4) is getting used to

87)- which one is incorrect?

1) Ahmad told me that she would be here at one o'clock.

2) Jamal said that he was going to get here around two
3) Sophia asked me what time | would arrive.

4) Ali told to me that he was hungry.

Part 3: Reading comprehension

In 2007, a 47-year-old computer science professor from Carnegie Mellon University was
invited to give a lecture at his university. His name was Randy Pausch, and the lecture series
was called "The Last Lecture." Pausch was asked to think about what wisdom he would
give to people if he knew it was his last opportunity to do so. In Pausch's case, it really was
his last lecture because he had cancer and wasn't expected to survive. Pausch gave an
uplifting lecture called "Really Achieving Your Childhood Dreams.” The lecture was
recorded and put on the Internet. A reporter for the Wall Street Journal was also there and

wrote about it. Soon millions of people around the world heard about Pausch's inspiring talk.

88)- According to the text, The Last Lecture was in .... for Lecturer.

1) an unknown university 2) a well- known university
3) a known university 4) a nonmention university

(M)
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89)- According to the text, The Last Lecture was ........
1) Scintific 2) To the general public
3) To his students only 4) To his children only
90)- According to the text, which statement is correct?
1) Randy explained his Childhood.  2) It was his last lecture.
3) A reporter wrote this lecture. 4) A Journalist put the lecture on the Internet.
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81)- What is the primary tool used by central banks to control the money supply?

1) Fiscal policy 2) Exchange rate policy
3) Monetary policy 4) Trade policy
82)- What is the term used to describe the total value of goods and services produced
within a country's borders in a given year?
1) Gross Domestic Product (GDP) 2) Inflation
3) Trade deficit 4) Fiscal policy

83)- What is inflation?

1) The decrease in the overall price level of goods and services
2) The increase in the overall price level of goods and services
3) The decrease in the overall quantity of goods and services produced
4) The increase in the overall quantity of goods and services produced

84)-  Which of the following is a characteristic of a perfectly competitive market?
1) A small number of firms 2) Product differentiation
3) Barriers to entry 4) Price takers
85)- What is the term used to describe the difference between a country's exports
and imports?
1) Trade balance 2) National debt
3) Budget deficit 4) Fiscal policy
86)- What is the opportunity cost of a decision?
1) The monetary cost of the decision
2) The benefit gained from the decision

3) The value of the next best alternative foregone
4) The total cost of all alternatives considered

87)- What is the law of demand?
1) As price increases, quantity demanded increases
2) As price increases, quantity demanded decreases

3) As price decreases, quantity demanded increases
4) As price decreases, quantity demanded decreases
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88)- What is a monopoly?

1) A market structure with many buyers and sellers

2) A market structure with a single buyer and many sellers
3) A market structure with a single seller and many buyers
4) A market structure with few sellers and many buyers

89)- What does the acronym "CPI" stand for in the field of economics?
1) Consumer Price Index 2) Capital expenditure
3) Central bank 4) Comparative advantage

90)- Which economic term refers to the measure of how responsive the quantity
demanded of a good is to a change in its price?
1) Monopoly 2) Subsidy
3) Elasticity 4) Fiscal policy
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A- VOCABULARY

66)- A ----------- is an accessory contract by which the promisor undertakes to accept liability
on behalf of the promissee for the debt.
1) A contract of guarantee 2) A bilateral contract
3) A contractual sale 4) A contract of mandate

67)- Laws, for example, can be classified as (1) substantive law and (a) ------------ , ad (2)
domestic law and (b) --------------- law.
1) (a) criminal, (b) public 2) (a) public, (b) criminal
3) (a) international, (b) procedural 4) (a) procedural, (b) international
68)- The word ‘lawyer’ is NOT a synonym of --=----=--- .
1) attorney 2) magistrate 3) barrister 4) advocate

69)- ---------- law is a written law passed by a body of legislature.
1) statutory 2) common 3) oral 4) customary

70)- Which is NOT an element of a crime?
1) charge 2) criminal act (actus reus)
3) criminal intent (mens rea) 4) concurrence

71)- (a) ----------- apply generally, whereas (b) ------------- are international agreements on the
conduct of hostilities and aim to protect the rights of civilians.
1) (a) humanitarian laws, (b) human rights
2) (a) human rights, (b) natural rights
3) (a) human rights, (b) humanitarian laws
4) (a) humanitarian laws, (b) international laws
72)- Based on article 40 of the Civil Code of I.R.I. the right of ----------- comprises the right
by which a person may derive profit from property which either belongs in proprietary
right to someone else or has no special owner.

1) leasehold 2) access 3) exploitation 4) preemption
73)- Which word is NOT a punishment?
1) fine 2) imprisonment 3) expatriation 4) acquittal
(Y\)
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74)- The English courts have no -------------- over offences which are committed out of
England, except for some special cases.
1) diminished responsibility 2) jurisdiction
3) acquisition 4) jurisprudence
75)- =eeemeemeee is an official decision made in a court of law, especially announcing whether
someone is guilty or is going to be punished.
1) verdict 2) act 3) summon 4) warrant

B- Reading Comprehension

Text One
Read the passage and answer questions 76 to 80.

In criminal cases the burden is throughout on the prosecution to establish the case against
the accused beyond reasonable doubt. If the jury or magistrates have such doubt then they
should acquit. At the close of the prosecution case, counsel for the defence may submit that
there is no case to answer; if the judge agrees the jury will be directed to acquit.

Normally, if the accused puts forward a defence it does not have to be proved but sufficient
evidence must be adduced to go to the jury (the evidential burden) and if “it” creates a
reasonable doubt in the minds of the jury they should acquit. In some cases, however, a
defence on balance of probabilities must be proved, i.e. the civil burden of proof, e.g. insanity,
diminished responsibility and under the Prevention of Corruption Act, 1916 (s. 2), where a gift
shall be deemed to have been given or received corruptly unless D proves the contrary.

In the Crown Court the judge directs the jury on the relevant law and the jury applies the
law to the facts of the case in returning a verdict of guilty or not guilty; the conviction will be
declared in case of guilt.

76)- What is the main idea of the passage?

1) The differences between the judge and jury 2) Burden of proof

3) Acquittal conditions 4) Prevention of crimes
77)- Based on the first paragraph, the defendant will be acquitted if ...

1) there is a reasonable doubt against him.

2) the jury determines even if the judge disagrees.

3) the judge determines even if the jury disagrees.

4) the judge and jury agree.
78)- What does the word “it” in line 6 refer to?

1) evidence 2) jury 3) accused 4) reasonable doubt

79)- According to the text, defence on balance of probabilities must be proved in cases such

as ...
1) when the sufficient evidence is adduced. 2) the civil burden of proof.
3) diminished responsibility. 4) None of the above.
80)- The word “conviction” in the last sentence is the closest in meaning to ------ .
1) discharge 2) sentence 3) disbelief 4) certitude
('Y)
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Text Two
Read the passage and answer questions 81 to 85.

Whilst offer, acceptance and consideration are described as the basic requirements for a
contract, terms might best be described as the ‘ingredients’ of the contract: they tell us what
each party to the contract is expected to do under the contractual agreement. Terms thus
identify the respective obligations of each party under the contract: “they” amount to
contractual promises. Contractual terms are, therefore, to be distinguished from mere puffs or
representations which are non- promissory in nature and do not amount to terms: a puff is an
advertising statement which praises the advertised goods in such vague or boastful terms that
the statement made cannot be taken seriously. A representation is a statement which induces
one party to enter the contract but which does not form part of the contract, i.e. which does not
amount to a contractual term. This distinction is important as only the breach of a contractual
obligation or term will give rise to liability for damages for breach of contract — if a puff is
broken or false, no liability is incurred for this; if a representation is broken/false, the
remedies, if any, are those for misrepresentation.

81)- What does the passage mainly discuss about?

1) Requirements of contracts 2) Terms of contract

3) Representation 4) Misrepresentation
82)- What does the word “they” in line 4 refer to?

1) contracts 2) terms 3) obligations 4) promises
83)- The contractual terms must be ...

1) differentiated from mere puffs. 2) non-promissory in nature.

3) not the amount of terms. 4) identified by either of the parties.

84)- In which of the following choices, the liability for damages for breaching a contract will
be assumed.

1) When a puff is false 2) When a representation is false
3) The breach of a contractual obligation or term 4) All choices.

85)- The word “mi"srepresentation” in the last sentence is the closest in meaning to ---.
1) Falsity 2) conferral 3) negligence 4) witness
Text Three

Read the passage and answer questions 86 to 90.

The main concerns for international law are war and peace, whereas the primary aim of
national law is to avoid the conflicts between humans and establish civil peace. The great
thinkers who contributed to the establishment and development of modern international law
intended precisely such a mission (the avoidance of war and institution of peace) for
international law. Moreover, across the centuries, when the world appeared to be principally
Eurocentric, the law of nations emerged mostly in the form of peace treaties. Meanwhile,
Europe is the birthplace of the ‘law of nations’. Accordingly, the legacy of that period and its
European roots are easily recognizable in contemporary international law. In order to meet
these purposes, some sources were needed; there is no hierarchy between the sources of
international law. In general, there are three sources of international law: international

treaties, international custom and general principles of law. In international law, a special
(YY)
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place is occupied by the unilateral acts of states, the subsidiary sources of international law —
the judicial decisions and the teachings of the most highly qualified publicists — and the soft
law.
86)- What is the main idea of the passage?
1) International law sources 2) The definition of International law

_ 4) Development of International law

87)- The avoidance of war and institution of peace were the main aims of forming ...

1) International law 2) Law of nations

3) European roots of law 4) International customs
88)- Based on passage, ...
1) Inheritance of international law roots in Europe is not easily recognizable in
contemporary international law.
2) Legitimacy of international law roots in Europe is simply recognizable in contemporary
international law

3) Legacy of international law roots in Europe are easily identifiable in today’s
international law.
4) 2 and 3.
89)- Which is TRUE based on the passage?
1) The sources of international law are not limited.
2) Some sources of international law are prior to the others.
3) The unilateral acts of states are among the general sources of international law.

90)- The word “subsidiary” in the last sentence is the closest in meaning to ...... .
1) Secondary 2) Subsidized 3) Preceding 4) Primary
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Choose the best answer
Part 1: Vocabulary

71)- The Qur’an is a/an miracle. It is a Book that is always alive.
1) justice 2) imperishable 3) uncomplicated 4) required
72)- When some people do not agree among themselves over a problem, we can say
there is no among them.
1) pronunciation 2) superiority 3) unanimity 4) race
73)- In many verses, the Quran invites man to reflect upon the of creation.
1) surfaces 2) signs 3) movements 4) spirit

(M)
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74)- Since the Caliphs had .......... the writing down of the tradition, they were
handed down by word of mouth by the companions and their followers.
1) encouraged 2) prohibited 3) perfected 4) investigated

75)- Since a book which claims to be the actual unalterable word of God and attests
to this in its own text, does not need to resort to others to prove its ................
1) authenticity 2) righteously 3) symmetry 4) astonishing
76)- The subject of history was ........... derived in Islam from stories of the lives of

prophets, in particular that of the Prophet Muhammad, and the description of
the course of past nations.

1) harsh 2) initially 3) symmetry 4) exhort
77)- Islam is a simple and uncomplicated religion, giving one maximum freedom
without encroaching on the freedom of others. It ............. one to believe in One
God.
1) expands 2) explains 3) ignores 4) enjoins
78)- Allah has sent numerous Prophets to all the nations and races. Each new
Prophet brought a new Divine Law, which ............ the previous Law.
1) equated 2) intelligible 3) abrogated 4) allegorical

79)- Nevertheless, we can obtain from the revelations given by Muhammad(p.b.u.h.)
an idea of the heavenly scripture.
Another word for a “scripture” is .
1) holy education 2) temple 3) reflection 4) holy book

80)- Be sure that the laws of the Qur’an are suitable for the of our time, too.
1) requirements 2) existence 3) wisdom 4) arguments

Part 2: Grammar
81)- This trend continued in later centuries ....... in Persia but also in India and the
Ottoman world including Iraq.

1) not 2) only 3-therefore 4) not only
82)- The .............. thinkers have been practically a unit on the elements of the
definition.
1) leading 2) led 3-leads 4) lead
83)- Its mouth was big ....... to swallow a whole cow in one gulp.
1) too 2) more 3) enough 4) the most
84)- You should make time. Anyone ....... job is as stressful as yours should make

physical exercise part of their daily routine.
1) whom 2) which 3) whose 4) where

(Y)
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85)- After students finish the exercise, teachers may find that no .......... explanation
Is necessary, and the charts can serve as a useful reference.
1) most 2) farther 3) further 4) far
86)- The simple past ........... talk about activities or situations that began and ended
in the past.
1) uses 2) used to 3) is used to 4) is getting used to

87)- which one is incorrect?
1) Ahmad told me that she would be here at one o'clock.

2) Jamal said that he was going to get here around two
3) Sophia asked me what time | would arrive.

4) Ali told to me that he was hungry.

Part 3: Reading comprehension

In 2007, a 47-year-old computer science professor from Carnegie Mellon University was
invited to give a lecture at his university. His name was Randy Pausch, and the lecture series
was called "The Last Lecture." Pausch was asked to think about what wisdom he would
give to people if he knew it was his last opportunity to do so. In Pausch's case, it really was
his last lecture because he had cancer and wasn't expected to survive. Pausch gave an
uplifting lecture called "Really Achieving Your Childhood Dreams." The lecture was
recorded and put on the Internet. A reporter for the Wall Street Journal was also there and
wrote about it. Soon millions of people around the world heard about Pausch's inspiring talk.

88)- According to the text, The Last Lecture was in .... for Lecturer.

1) an unknown university 2) a well- known university

3) a known university 4) a nonmention university
89)- According to the text, The Last Lecture was ........

1) Scintific 2) To the general public

3) To his students only 4) To his children only

90)- According to the text, which statement is correct?
1) Randy explained his Childhood.  2) It was his last lecture.

3) A reporter wrote this lecture. 4) A Journalist put the lecture on the Internet.
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Part A: Vocabulary
Choose the word(s) that best completes each of the following sentences.

71)- The Imamate jurists took on the formulation and ......... of the fighi laws of
government and Islamic rule according to the school of the Ahl al-Bayt (as).

1) knowledge 2) legislation 3) acuteness 4) duties
72)- In the legal sense, the essence of a transaction or contractis a .......
1) promise 2) asset 3) production 4) investment
(V)
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73)- The word "Islam™ means .......... to the will of God”.
1) subject 2) responsible 3) submission 4) belief
74)- By Customary gathering (djam ‘al-‘urfi) is meant taking ........... altogether.
1) two proofs 2) two contradictory proofs
3) two probative proofs 4) two reasonable proofs
75)- When the subject of the ...... in one prooftext is more specific than that in the
other, the former is to be preferred.
1) legislation 2) formulation 3) ruling 4) illustration
76)- Western support for Israel, despite its ongoing ...... of UN Security Council
resolutions.
1) development 2) damage 3) situation 4) violation
77)- People are neither able to produce all their needs nor to ......... all they have
produced.
1) consume 2) sell 3) distribute 4) spend
78)- the infallibles are viewed as the best, the perfect, and the most noble of ......... of
God.
1) the creations 2) submission 3) authorities 4) principles
79)- The intellect undoubtedly judges that punishment without .......... is
reprehensible.
1) intellectual 2) presumption 3) evidence 4) result
80)- "Figh" conventionally known as a science or knowledge of ....... religious.
1) legislate 2) science 3) summarized 4) detailed

Part B: Cloze Test
Read the following passage and then choose which of (1),(2),(3)or (4) best fits each
blank.

Regarding consumption, Islam has ...... 81...... exceeding the limits of reasonable and
...82... needs i.e., extravagance (israf) and unnecessary and wasteful expenditure or
...83....... i.e., dissipation (tabdhir). Both israf and tabdhir refer to quantitative and
qualitative aspects of economic life. In economic terms, israf refers to over-allocation or
over-distribution of wealth and tabdhir relates to unnecessary ... 84 ....... Or unnecessary
distribution of wealth.

81)-
1) prohibited 2) allowed 3) permitted 4) initiated
(")
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82)-

2)) consumption 2) legitimate 3) commodity 4) surplus
83)-

1) attribution 2) dissipation 3) production 4) consumption
84)-

1) demand 2) gap 3) allocation 4) transaction

Part C: Reading Comprehension
Read the following passages and choose the best (1),(2),(3) or.(4)
Passagel:

The doctrine of the mandate of the jurisprudent that Imam Khomeini espoused can be
summarized as follows:

1 .The divine ordinances (ahkam) of Islam necessarily require the state (hukumah) and

the divine mandate (wilayah) for their implementation. Without the state and the ruler with
the divine mandate (wal1 al-amr), the supremacy of divine law cannot be maintained; nor is
it possible to keep the affairs of Muslims from - being disturbed. These necessities
constituted the proof for the Imamat.

2 .The Islamic state (al-hukumah al-Islamiyah) that Islam has brought into existence is a

state based entirely and solely on the divine law. The necessary qualification of the ruler
(wal1) of the Islamic state comprises (a) the knowledge of the divine ordinances and (b) the
justness (al-‘adalah) as leader of the community and executor of the ordinances.

3 .Since no specific individual is appointed during the occultation, the divine mandate
belongs rightly to the just jurisprudent (al-faqih — al-‘adil) in that capacity (and no one else).
4 Establishing the Islamic state and forming the basis for the Islamic government,

therefore, constitute a collective obligation (al-wajib al-kifa’1) on the part of the just
jurisprudents (al-fugaha’ al-‘udul); their appointed status will not lapse if even if they are
unable to establish the Islamic state. Establishing the Islamic state and forming the basis for
the Islamic government, therefore, constitute a collective obligation (al-wajib al-kifa’1) on
the part of the just jurisprudents (al-fugaha’ al-‘udul); their appointed status will not lapse
even if they are unable to establish the Islamic state. People have the obligation to obey the
commands of the ruler with the divine mandate, be he the Prophet, the Imam, or the
jurisprudent.

5 .As ruler of the Islamic state, there is no difference between the jurisprudent, on the one

hand, and the Prophet and the Imam, on the other; the jurisprudent has all that the Prophet
and the Imam had for rulership and politics (al-hukumah wa al-siyasah).

(')
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85)- In the passage, the author generally mentions .........
1) The stipulation of the mandate of the jurisprudent
2) The opinion of Imam Khomeini in relation to the mandate of the jurispruden
3) For stablishing of Islamic state it is necessary to have a ruler
4) The executor of ordinances is only Islamic jurists

86)- according to Imam Khomeini's opinion......

1) There is no difference between just jurisprudent and Islamic rulers
2) There is a little difference between the jurisprudent and the prophet and imam
3) Wali Faqih has the same mandate as the prophet and Imam have.

4) Wali Faqih belongs only to Islamic ruler.

87)- According to Imam's Khomeini attitude.......

1) If the just jurisprudents are unable to establish the Islamic government their appointed
status will lapse.

2) The just jurisprudents have no obligation to establish Islamic State.

3) The just jurisprudents' obligation to establish the Islamic state will lapse under
particular conditions.

4) The just jurisprudents' obligation to establish the Islamic state will not lapse under any
conditions.

Passage2:

The approach of Immamieh jurists is different from Sunni jurists, particularly about
financial markets and transactions. For example, as to the concept and realm of gharar there
are different views between Islamic jurists. So the majority of Sunni jurists believe that
commercial insurance with fixed premiums, are forbidden based on gharar. However, the
majority of Shia jurists express its validity because setting the insured's mind at rest is the
subject matter and main goal of the insurance contract. The other differences in views are
seen about legal nature of money, the possibility of sale of debt for cash (bey-o-deyn), the
validity of new contracts and the possibility of guarantee in all sukuk.

What is said by some Sunni scholars is that *Sharia considers money as a tool to measure
value, and not an asset in itself. Thus, receiving income from money (or "interest") is
forbidden. Under Sharia, one should not sell or trade debts, and conventional lending is not
permissible™. In the view of Shia jurists, money is property per se, and may be lent and
borrowed but getting surplus and interest on the loan is forbidden. However, the debt,
whether its subject was money or other property, could be sold to the debtor or third person
in cash and at the same or lesser value. The result mainly appears in secondary markets;
according to some viewpoints sale of most sukuk in secondary markets is impossible but
according to other viewpoints it is possible and legally may be valid.

(')
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88)- in paragraph 2, the author is going to .............
1) refer to the position of money in our times.

3) mention some viewpoints about secondary market.

4) talk about the validity of sale of sukuk.
89)- in paragraph 1, itis said that ............

2) The subject matter of " ghara™ in both Shia and Sunni are alike.
3) legal nature of money in both Shia and Sunni school is not different.
4) Commercial insurance with fixed premiums is forbidden according to Shia's view.

90)- Based on passage ...........
1) It is understood that money is as a tool in financial markets.

2) It is understood that the debt if the its subject is property can be sold.

3) It is understood that the attitude of Shia jurists and Sunni jurists towards transactions
by money is identical.
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Part A: Vocabulary
Choose the word(s) that best completes each of the following sentences.

71)- The Imamate jurists took on the formulation and ......... of the fighi laws of
government and Islamic rule according to the school of the Ahl al-Bayt (as).

1) knowledge 2) legislation 3) acuteness 4) duties
72)- In the legal sense, the essence of a transaction or contractis a .......

1) promise 2) asset 3) production 4) investment
73)- The word "Islam™ means .......... to the will of God”.

1) subject 2) responsible 3) submission 4) belief

(V)
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74)- By Customary gathering (djam ‘al-‘urfi) is meant taking ........... altogether.
1) two proofs 2) two contradictory proofs
3) two probative proofs 4) two reasonable proofs
75)- When the subject of the ...... in one prooftext is more specific than that in the
other, the former is to be preferred.
1) legislation 2) formulation 3) ruling 4) illustration
76)- Western support for Israel, despite its ongoing ...... of UN Security Council
resolutions.
1) development 2) damage 3) situation 4) violation
77)- People are neither able to produce all their needs nor to ......... all they have
produced.
1) consume 2) sell 3) distribute 4) spend
78)- the infallibles are viewed as the best, the perfect, and the most noble of ......... of
God.
1) the creations 2) submission 3) authorities 4) principles
79)- The intellect undoubtedly judges that punishment without .......... is
reprehensible.
1) intellectual 2) presumption 3) evidence 4) result
80)- "Figh" conventionally known as a science or knowledge of ....... religious.
1) legislate 2) science 3) summarized 4) detailed

Part B: Cloze Test
Read the following passage and then choose which of (1),(2),(3)or (4) best fits each
blank.

Regarding consumption, Islam has ...... 81...... exceeding the limits of reasonable and
...82... needs i.e., extravagance (israf) and unnecessary and wasteful expenditure or
.83 i.e., dissipation (tabdhir). Both israf and tabdhir refer to quantitative and
qualitative aspects of economic life. In economic terms, israf refers to over-allocation or
over-distribution of wealth and tabdhir relates to unnecessary ... 84 ....... Or unnecessary
distribution of wealth.

81)-

1) prohibited 2) allowed 3) permitted 4) initiated
82)-

2) consumption 2) legitimate 3) commodity 4) surplus
83)-

1) attribution 2) dissipation 3) production 4) consumption
84)-

1) demand 2) gap 3) allocation 4) transaction

(M)
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Part C: Reading Comprehension
Read the following passages and choose the best (1),(2),(3) or.(4)
Passagel:

The doctrine of the mandate of the jurisprudent that Imam Khomeini espoused can be
summarized as follows:

1 .The divine ordinances (ahkam) of Islam necessarily require the state (hukumah) and

the divine mandate (wilayah) for their implementation. Without the state and the ruler with
the divine mandate (wal1 al-amr), the supremacy of divine law cannot be maintained; nor is
it possible to keep the affairs of Muslims from - being disturbed. These necessities
constituted the proof for the Imamat.

2 .The Islamic state (al-hukumah al-Islamiyah) that Islam has brought into existence is a

state based entirely and solely on the divine law. The necessary qualification of the ruler
(wal1) of the Islamic state comprises (a) the knowledge of the divine ordinances and (b) the
justness (al-‘adalah) as leader of the community and executor of the ordinances.

3 .Since no specific individual is appointed during the occultation, the divine mandate
belongs rightly to the just jurisprudent (al-faqih — al-‘adil) in that capacity (and no one else).

4 Establishing the Islamic state and forming the basis for the Islamic government,
therefore, constitute a collective obligation (al-wajib al-kifa’1) on the part of the just
jurisprudents (al-fugaha’ al-‘udul); their appointed status will not lapse if even if they are
unable to establish the Islamic state. Establishing the Islamic state and forming the basis for
the Islamic government, therefore, constitute a collective obligation (al-wajib al-kifa’1) on
the part of the just jurisprudents (al-fugaha’ al-‘udul); their appointed status will not lapse
even if they are unable to establish the Islamic state. People have the obligation to obey the
commands of the ruler with the divine mandate, be he the Prophet, the Imam, or the
jurisprudent.

5 .As ruler of the Islamic state, there is no difference between the jurisprudent, on the one
hand, and the Prophet and the Imam, on the other; the jurisprudent has all that the Prophet
and the Imam had for rulership and politics (al-hukumah wa al-siyasah).

85)- In the passage, the author generally mentions .........
1) The stipulation of the mandate of the jurisprudent
2) The opinion of Imam Khomeini in relation to the mandate of the jurispruden
3) For stablishing of Islamic state it is necessary to have a ruler
4) The executor of ordinances is only Islamic jurists

86)- according to Imam Khomeini's opinion......

1) There is no difference between just jurisprudent and Islamic rulers
2) There is a little difference between the jurisprudent and the prophet and imam
3) Wali Faqih has the same mandate as the prophet and Imam have.

4) Wali Faqih belongs only to Islamic ruler.

(Y)
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87)- According to Imam's Khomeini attitude.......

1) If the just jurisprudents are unable to establish the Islamic government their appointed
status will lapse.

2) The just jurisprudents have no obligation to establish Islamic State.

3) The just jurisprudents' obligation to establish the Islamic state will lapse under
particular conditions.

4) The just jurisprudents' obligation to establish the Islamic state will not lapse under any
conditions.

Passage2:

The approach of Immamieh jurists is different from Sunni jurists, particularly about
financial markets and transactions. For example, as to the concept and realm of gharar there
are different views between Islamic jurists. So the majority of Sunni jurists believe that
commercial insurance with fixed premiums, are forbidden based on gharar. However, the
majority of Shia jurists express its validity because setting the insured's mind at rest is the
subject matter and main goal of the insurance contract. The other differences in views are
seen about legal nature of money, the possibility of sale of debt for cash (bey-o-deyn), the
validity of new contracts and the possibility of guarantee in all sukuk.

What is said by some Sunni scholars is that "Sharia considers money as a tool to measure
value, and not an asset in itself. Thus, receiving income from money (or "interest") is
forbidden. Under Sharia, one should not sell or trade debts, and conventional lending is not
permissible™. In the view of Shia jurists, money is property per se, and may be lent and
borrowed but getting surplus and interest on the loan is forbidden. However, the debt,
whether its subject was money or other property, could be sold to the debtor or third person
in cash and at the same or lesser value. The result mainly appears in secondary markets;
according to some viewpoints sale of most sukuk in secondary markets is impossible but
according to other viewpoints it is possible and legally may be valid.

88)- in paragraph 2, the author is going to .............
1) refer to the position of money in our times.

2) speak the difference opinions of Shia scholars and Sunni ones about "money".
3) mention some viewpoints about secondary market.

4) talk about the validity of sale of sukuk.

89)- in paragraph 1, itissaid that ............
1) According to Shia's view sale of debt for cash is possible.

2) The subject matter of " ghara" in both Shia and Sunni are alike.
3) legal nature of money in both Shia and Sunni school is not different.
4) Commercial insurance with fixed premiums is forbidden according to Shia's view.

(')
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90)- Based on passage ...........
1) It is understood that money is as a tool in financial markets.

2) It is understood that the debt if the its subject is property can be sold.

3) It is understood that the attitude of Shia jurists and Sunni jurists towards transactions
by money is identical.
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Choose the best answer
Part 1: Vocabulary

71)- Nor must one forget the cosmological significance of the nocturnal ....... of the
Prophet.
1) appeal 2) ascent 3) assert 4) inspire
72)- Such concepts as bodily resurrection and the various .......... events as
understood by Islam or for that matter Christianity were alien to ancient
philosophy.
1) eschatological 2) theoretical 3) heritage 4) unveiling

73)- The Qur'an and all aspects of the Islamic tradition which are 'rooted in it have
both an outward and an inward ..........

1) crystallize 2) sophistry 3) ratiocination 4) dimension
74)- In no branch of Islamic philosophy, is the influence of the Qur‘an and Hadith
more evident than in.....eeeveen...
1) inspiration 2) incumbent 3) eschatology 4) illumination
75)- The Islamic philosophy which is ultimately never separated from spiritual
purity and ultimately ....... that the very term hikmah implies in the Islamic
context.
1) sanctity 2) affinity 3) allude 4) dormant
76)- The true method of philosophy must be, firstof all ...............
1) synthesis 2) Synthetic 3) analytical 4) mpracticality
77)- the value of philosophical studies has been greatly .............. in the minds of many
college students.
1) obscured 2) clarified 3) particularized 4) embraced
78)- On the contrary, Islamic philosophy is what it is precisely because’ it flowered in
a universe whose ......... are determined by the Qur'anic revelation.
1) contours 2) dormant 3) vague 4) Proximates

79)- Islamic philosophy is essentially a philosophical hermeneutics of the Sacred Text
while making use of the rich philosophical heritage of .............
1) quantitative 2) antiquity 3) positivistic 4) appeal
80)- The very term al-hagigah is of the greatest .............. for the understanding of the
relation between Islamic philosophy and the sources of the Islamic revelation.
1) monumental 2) wholeness 3) association 4) significance
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Part 2: Grammar

81)- This trend continued in later centuries ....... in Persia but also in India and the
Ottoman world including lrag.
1) not 2) only 3) therefore 4) not only
82)- The ............ thinkers have been practically a unit on the elements of the
definition.
1) leading 2) led 3) leads 4) lead
83)- Its mouth was big ....... to swallow a whole cow in one gulp.
1) too 2) more 3) enough 4) the most
84)- You should make time. Anyone ....... job is as stressful as yours should make

physical exercise part of their daily routine.

1) whom 2) which 3) whose 4) where
85)- After students finish the exercise, teachers may find that no .......... explanation
Is necessary, and the charts can serve as a useful reference.
1) most 2) farther 3) further 4) far
86)- The simple past ........... talk about activities or situations that began and ended
in the past.
1) uses 2) used to 3) is used to 4) is getting used to

87)- which one is incorrect?

1) Ahmad told me that she would be here at one o'clock.

2) Jamal said that he was going to get here around two
3) Sophia asked me what time | would arrive.

4) Ali told to me that he was hungry.

Part 3: Reading comprehension

In 2007, a 47-year-old computer science professor from Carnegie Mellon University was
invited to give a lecture at his university. His name was Randy Pausch, and the lecture series
was called "The Last Lecture." Pausch was asked to think about what wisdom he would
give to people if he knew it was his last opportunity to do so. In Pausch's case, it really was
his last lecture because he had cancer and wasn't expected to survive. Pausch gave an
uplifting lecture called "Really Achieving Your Childhood Dreams.” The lecture was
recorded and put on the Internet. A reporter for the Wall Street Journal was also there and

wrote about it. Soon millions of people around the world heard about Pausch's inspiring talk.

88)- According to the text, The Last Lecture was in .... for Lecturer.

1) an unknown university 2) a well- known university
3) a known university 4) a nonmention university
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89)- According to the text, The Last Lecture was ........
1) Scintific 2) To the general public
3) To his students only 4) To his children only
90)- According to the text, which statement is correct?
1) Randy explained his Childhood.  2) It was his last lecture.
3) A reporter wrote this lecture. 4) A Journalist put the lecture on the Internet.
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